Basic C/C++ Programming

Name:

Quiz 04
PUT 10 EEEe5 A RS - 1 char toUpper(char);
1. BRTERAFEE 2 int main(int argc, char **argv) {
(prototype) ? 3 char echo = , upcase;
a) 1 b) 2 4 upcase = toUpper(echo);
c) 4 d) 6 5 cout << upcase << endl;
e) 8 6 }
2. THF eS8 (formal | 7 char toupper(char inchar) {
parameter) ? 8 if ( <= inchar && inchar <= ) {
a) inchar b) echo 9 return inchar - ( - )3
C) upcase d) toUpper | 1q } return inchar;
e) return 11 }
3. M—E2EE28 (actual
parameter) ?
a) inchar b) echo C) upcase d) toUpper e) return
4. 5 4 {TPIT581% > echo HYMERE ?
a) 'i’ b) 'I' c) 'A’ d) 'a’ e) WZEBUHK
5. % 4 {T¥{T58(% » inchar HY{EZE ?
a) 'i' b) 'I' c) 'A' d) 'a’ e) ZEBHUHK

6. F1EH 10 177 } B return RfI—(E else > EHGHFEKK toUpper(char) HILIAE ?

a) & b) &
7. upcase JElff—fdE S ?

a) static global

b) static local c) auto global d) auto local e) volatile

8. RN 1 1T » RIS EEUIIEER G (errors) ?

a) ~EEEmENR

b) % 4 17 HAF|FH= toUpper HYES
c) # 6 17 HAFEK= toUpper HIES
d) 5 2 17> K4IE argc, agrv E(17#

e) % 2 17 argc, agrv REHHEH

9. FHIFE 4R AT E A TRE 2R IUML main. exe » HIfE command line #h{Tf5
4 |./main.exe 12 34| 1% > &5 2 {79 argc HIEEE ?

a) o b) 1 c) 2

d) 3 e) 4

10. = LR > argv[2] &J& NHI—(ET 5 ?

a) 1 b) 2
11. static function &9

c) 12

d) 3 e) 34

a) —fEez > R EHREEFE heap (HEFE)
b) etz R ERVEEEFE stack (HE)E

1




c) —fEa - FeEaE R A e EREEA
d) —{Epz o %A EHEE A I e
e) —fEekzt > ek ] e 2 fE

LUT 2 Eem2H 5T

int maximum(int x, int y, int z) {
12. BFO(call) maximum(3, 5, 4)| #9E int max = x;
HEEE? if (y > max) {
a) 1 b) 2 c) 3 int max = y;
d) 4 e) 5

}

13. Wi bug (HFFEA0 maximum(int, if (z > max) {

int, int) HAYAILAEE 3 (EEEIERA

W 00 N O L1 A W N P

max = z;
B ? }

a) 5 4 {7 int FOj0L return max;
b) ML 4 7Y 10 }

c) % 7 1T max EifLE
d) 5 6 (7119 if H
e) IFE=CHEIERE » AOMEIY

14. MHEIRGEERZEAA 154 g+ -c sq.cpp > HIEEAMERZE ?

a) sqg.o b) sqg.h c) sq d) a.out e) sqg.out
15. MR IRGEERE TS AL 154 [g++ sq.cpp -0 s R EERHERZE 2
a) sqg.o b) sqg.h c) sq d) a.out e) sqg.out

16. BEL T THESRE/E—{HE function » ZFH0Y isMult3 » 82— (EES » O E—EA AR E -
AR 3 MR B true  BHIEE false -

17. SEAELLTIERE(F—(E function - #fEHl toInt » 2R —(EFIT('0"'~"9") » [ElfH—(E
FH(0~9) - EZFILIE e~ 9" Al -1 -




18. $ATELL T FHEREE(E—(F function « LTI myAvg » B = (EEEEY - Bl — (T8
(double) + [El{E{E Fy =t A9 -

19. SHELL FIFHESPEE—{E function - &M myMean » SR = (H)F8:% (double) - [al{fH—
{83789 (double) » [al{8H{e 55 =W i -

20. FHAELL PTHETE(E—(E function - HfEIY isTriangle » Z8UE —{E}FHi# (double) > {X
K= [H{E{EFFEEE (double) » FHIL=B-RAEMEN (=9I - AlEEEER - SHE]
#H 0-
Hint:
E.4%% #include <cmath>
EEifE ] EHE A (Heron's formula) :

a+b+ec
2

A= \/s(s—a)(s—b)(s —c) Hris =

3. FHEmIABTF AR NAE

4. Z=AEPERER  EREZRRNRE =2

5. 0 & false- JE @ /2 true  {RARMEAUNATLLIA [EHEEHETERR |
if(area = isTraingle(a,b,c)) cout << "Area is " << area << endl;
else cout << "Not a triangle!\n";




